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I Workflow Compare |

| check the workflow between me and minggia from stdhep level to the
final JER result, here is the sketch for process of my JER work and minggqia’ s
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Reproduction of Resuit

Result reproduced using Mingqia ‘s cluster level data
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Result reproduced using Mingqgia ‘s reconstruct level data

My process
e use GenMatch from SW 25.3.7
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I Reproduction of Result |

Result reproduced using Mingqia ‘s stdhep data
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Reconstruct Data Fit

. DSCB Fit
DSCB Fit DSCB Fit E-E_50
E-E_30 E-E_40 > a00EMean = 0.0177 £0.0003
o, [Mean=0.0174 +0.0004 2400 Mean =0.0152 "+ 0.0003 524908 si n 0476 u 0004 CEPC Ref-TDR
212000 5igma = 0.0512 + 0.0006 CEPC Ref-TDR §2200 Sigma=0.0495 +0.0005 | § | CEPCRef-TOR Se200 2" o ~
° E v2/ndf = . e E x2/ndf = 1.76 E240:ZH—vvbb
S lyondr=132 E240:ZH-vvbb = Fxendf=162 E240:ZH->Vvbb ~2000F- )
.21 000 __alphaLo =1.22, alphaHi = 1|3 ‘22000 :_alphaLo =1.34, alphaHi = 1|4, E EalphaLo =1.39, alphaHi=1
€ |nLo=19.99, nHi=3.48 ©1800FnLo = 10.27, nHi = 3.31 31800pnLo =9.38, nHi =3.77
Y [Entries = 32108 B FEntries = 58244 - Entries = 57839
r = 1600 16001~
800 r C
| RMs90 = 0.0622 1400 w90 = 0.0578 1400 Rmsg0 = 0.0558
600 12000~ 12005
i 1000F 10001~
200 800 800
i 600F 600
200 4001~ 4003—
r 200F 200:_
_%6‘ I L—é.4IJ —02‘ = 6I I I().2 0.4_. I I0.6 —%_6‘ I L_(;4I I _02‘ — (‘)I : |02 0‘4IJ .06 L sl Ll b
(Rec_E - Gen_E)/ Gen_E _ ' ' ' (Rec_E - Gen_E)/Gen_E 06 o4 02 0 (Rec 22 Gen 354/ Gen £°
DSCB Fit - - -
E-E_60 DSCB Fit
31 sook Mean = 0.0135 £ 0.0003 E-E_70
s - Sigma = 0.0425 = 0.0005 CEPC Ref-TDR g 400 Mean =0.0779 = 0.0007
31 Joof X = 1.39 E240:ZH->vVbb S " Sigma =0.0337 - 0.0010 CEPC Ref-TDR
£ [ alphaLo = 1.46, alphaHi = 1.3 E 350:%(:11de= 0-91256 _— E240:ZH-vvbb
51200__nL0 =6.06, nHi = 4.03 £ 300:_::; :4—4 ;]Hi,::;; i=12
= . 4 .44, ¥
[ Entries = 34671 um} -
L [ Entries = 6227
1000— 250
[ RMS90 = 0.0502  RMS90 < 0.0409
8001 2000
6001 150
400 100
2001~ 50F
I PRY B ] A (IR E | I |
—%.6 -04 -0.2 0 0.2 0.4 0.6 —%.6 -0.4 -0.2 0 0.6 8

0.2 0.4 .
(Rec_E - Gen_E)/ Gen_E (Rec_E - Gen_E)/ Gen_E




Cluster Level Data Fit
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